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PABT A

Answer any six queslions irorn lhe Io owing. Each quesllon cares 1 mark.

1. What is meani by lax panning ?

2 What is meant by double laxation ? Nlak€ a note on how dolble iaxalion arises

3. Paym€nt oi pad oi saary to ernployees in the iorms oJ perqlsles and
a owances rather lhan cofsohdated paymenl s beneiic a io lhe employel'
Do you agree ? Jrslly youranswer.

4. [4ake a nole on the corporale lax rate app]lcabie in lndla lor the assessment
yeat 2A21-22.

q. Whar is andrqan"ron'

6 What ls rneanl by s ump sa e ?

7. [4ake biei noles on the denliilcation oi lhe residential slaius oi a companv
and how the resdenlalstalus can be lsed for lax planning

8 Diflerenliale tax avoidance and tax evason,

PAFT - B

Answerany sjx queslions from the to owlng. Each queslion carries 3 marks

9. [,4ake a bref nol€ on M]nimlm AlernateTax

10. L4ake a briel nole on tlre procedure torconverslon oi sole proprletorship into

a company.
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11. Assuming ihat a company has lh ree alle rnalives lor raising capitallor expafslon

oi r1s bLrslness . TheY are l

a) use ol equ tY slrares alone

b) Lrse equ ly shares and d€benlures and

c) use ol €qulty shates, debent!res and loan ltom a flnancia nsliluuon

What are llre d lierenl po nis io be cons der€d while de.iding on the opl mLrm

capila struclure ?

12 Exp ain the 1ax pannjng consderauons wnh respeclto sa e ol assels !sed for

sc ent flc rescarch

l3 Define a company as perlhe lncon're Tax Acl l90l Make a brlel note on lhe

cassliicaiion ol compan es for ncorne tax purposes

14 1,4r. Raviwarls 10 slan an elig be bus ness and lo opl Sectlon 44AD ior lhe

p!rpose ol computation oflaxab € lncorne Atter evalualing the 1o owing

inlormat on suggesl him whelher he should run th€ business as so e

proprietary concern or a padn€rship Jirm :

a) Eslimaled saes 190.00 000/

b) Esl rnated proll !/s 44AD <7,20,000/

c) lfihe bls ness is run as soe propielary concern, lre willpavl10,000/

p€r mo.1h as saary lo his son.

d) I the blrs nass is rln as partne6hip I rnr N4r'Raviandhssonwllbelhe

lartners and €ach w I rece ve a monllr y salary of I 10 000/

e) Caplalolihe bus ness willbe 13,00,000/- contribuled equa y

i) The iLrm w pay inleresl @ 12% p€r annlm to lhe padne6 on lhelr

capiial conlibui on



15 X Lld. requires 40,000 !nts of a component every yearlor the nexl five years

The cor.ponenl can either be rianulaclured by lhe company ln lts faclory or

b€ purchased lrom the markel. Frcm lhe tolowlrig lnformalon, suggesl ihe

company whelher to manlfaclure the componenl or lo p!rchase i1 lrom lhe

a) l"4alerialpice per lnit-l8l

b) LaboLrr cost per unt-{ 12/

c) Variab e overhead Per unil {,1/-

cl) I lhe compaiy decides to manllact!r€ the componenl, il has lo purchase

a machjne by borowed cap ta and 1lr e nel cash o ulf aw lo the companv

n next fve Years w be{2,00,000/.

e) The component is ava able in th€ market lor { 281 per unil

I 6. Define'Demercer as per llre lncome Tax Act. 1961

PAFT C

Answer any two q!esuons jrorn the lo owlng Each queslon carries 8 marks.
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''Amalgamalion, a corporale praclice

lncenlves lo an'ralgamalng cornpany

enlranced growth, res!ts in lax
well as amalgamaled conpany

18. [7]r. N4an! and r"4r San! wanl lo slart a business They have two oplons ior

seleclnglheformoforqanizalon,viz partnership l rrn or p rlvate corn panv The

eslimaled proitofihe buslness€niity isa6,96 000/ belore makin g deduclions

n relation to lhe Io owing:

a) FernLrnerauon 120,000/- per rnonth each by ihe lirm and { 25,000/_ per

monlh each by ihe cornpany.

b) Each will rrive a oan to lhe bus ness oi i 2,00,000/- @ 12% annual inlercsl.
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96,000.00 96,000.00 96,000.00

24,000 00 60,000.00 1,00,000.00

c) Contribulon as caplial I 2,00,0001 each. On ihis interest w lbe prcvlded

@ l2% per annum. Howevel,lhd cbrnpany cannol pay nleresl o. I

d) The proiils aller tax vtil be disiribuled equaly as proiits / dividends

Assume lhai ihe company is abe 1o pay lncorne tax @ 25% + applicabLe

surcharge and cess. Suggesl whethertheyshou d lorm a parhershiplirm or a
pr vaie cornpany J usllfy your answer.

19. lvlr. Tlromas. Mr. Shanthafu and Mr. Abu are oiered llre lo owlng salarv

packages by ihe r emp oyer jn New De h .

components Mr. Tnomas Mr. Shanthanu [lr' Abu

Basic Pay 96,000.00 96,000.00 96,000.00

DA

They have to pay < 30 000/-, I 96,000/' and { 96 000/_ respectively as renl

Ior resdenlia accomrnodalion. The company gves them the oplon 10 choose

whether DA ls to be as per ih€ terms oi empoymenl. Help thern lo decide

whether they should opl il as per lems oi employmeni or nol Jusl iy your

suooestions (2x8=16)


